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Review for quiz Date [0)

Find the center and radius of the following circles.
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5. Write the equation of the circle with center (-2, 3) and radius 3\/2 :

(x+2)%+ (y-3)?= (3/6)*
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6. Write the equation of the circle with center (l-]\' -‘2<) and passing through (-)5‘,3).

(-5-D0%+ (1% > ()% (9= 2 y17=r? BX~I72+(3+9)1=H1

Find the vertex, focus and directrix of the following parabolas.
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11. Write the equation of the parabola with vertex (4,2) and a focus (4,-4).

qu (x-4)3= =4(0)(y-2)
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12. Write the equation of the parabola with ven‘exl 1, lfond passing through ( -4,3) opening to the
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Find the center, vertices ond foci of the following ellipses.
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17. Write the equation of the ellipse with vertices (-1,4), (1,-1), (-1, -6), and (-3, -1).
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